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Below are the most commonly used command words for AQA GCSE Geography. Visit here for the full list: 
https://www.aqa.org.uk/resources/geography/gcse/geography/teach/command-words
Too many students loose marks because they don’t understand what the command word is asking them to 
do. Make sure you are familiar with the different words they could ask and what you should do in response.

https://www.aqa.org.uk/resources/geography/gcse/geography/teach/command-words


Question 1: The Challenge of Natural Hazards

RAG/Revised?



Question 2: The Living World

RAG/Revised?



Question 3: Physical landscapes in the UK - Coasts

RAG/Revised?

Question 4: Physical landscapes in the UK - Rivers



Questions 5: Glacial landscapes in the UK
RAG/Revised?

Revision Checklist Option 1

You could use these boxes to 
keep track of your revision. 
Tick one box each time you 
have revised. Ideally, you 
should aim to revise each 
section three times.



Revision Checklist Option 2

You could use these boxes to rate each 
section of the specification from Red  (No 
understanding) to Amber  (Some 
understanding) to Green☺ (Solid 
understanding). You can then use this to 
focus your revision on the most crucial areas.

☺



Question 1: Urban issues and challenges



Question 2: The Changing Economic World



Question 3: The Challenge of Resource Management

Question 4: The Challenge of Resource Management - Food

Questions 5 and 6: The Challenge of Resource Management – Water & Energy



Section A: Issues Evaluation 

Section B: Fieldwork

You can be tested both on your fieldwork and unseen fieldwork.



Question 1: The Challenge of Natural Hazards

Question 2: The Living World

Questions 3 and 5: Physical landscapes in the UK

❑ Define the term ‘natural hazard’ [1 mark] 

❑ Give one piece of evidence which suggests the UK’s weather is becoming more extreme [1 mark]

❑ Outline one possible method of climate change mitigation. [2 marks]

❑ Describe the global distribution of volcanoes and earthquakes in relation to plate boundaries [3 
marks]

❑ Explain why reducing the risks from tectonic hazards is challenging. [4 marks]

❑ Discuss to what extent climate change is responsible for extreme weather in the UK. [6 marks]

❑ To what extent does a country’s ability to cope with the effects of a tectonic hazard depend on its 
wealth? Use examples from countries with contrasting wealth to support your answer. [9 marks] 
+ 3 SPaG
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❑ Describe the role of producers in an ecosystem. [1 mark]

❑ outline one reason for the high levels of biodiversity in tropical rainforests. [2 marks]

❑ Describe the physical characteristics of a hot desert. [3 marks]

❑ Explain hot ecotourism can be an effective strategy in the sustainable management of tropical 
rainforests. [4 marks]

❑ ‘International co-operation is the only way to protect rainforests in the future.’ Discuss the extent 
to which you agree with this statement. [6 marks]

❑ ‘Water supply is the most significant challenge facing development in hot deserts.’ With 
reference to a case study, to what extent do you agree with this statement? [6 marks]

❑ Assess the importance of interdependence between abiotic and biotic components of a hot 
desert ecosystem, [9 marks]

❑ Describe the distribution of upland and lowland areas in the UK. [4 marks]

3. Coasts

❑ Suggest how sea defences help to protect the coastline. [4 marks]

❑ Explain the formation of a spit. [4 marks]

❑ ‘Hard engineering strategies are effective in protecting the coast.’ Do you agree with this 
statement? Explain your answer. [6 marks] 

5. Glaciation

❑ Define the term abrasion [1 mark]

❑ Describe the characteristic of drumlins [4 marks]

❑ Explain how glaciated upland areas provide opportunities for economic activities [4 marks]

❑ Explain why conflicts might exist between development and conservation in upland glaciated 
areas [6 marks]
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Question 1: Urban issues and challenges

Question 2: The Changing Economic World

Question 3: The Challenge of Resource Management

Question 5: The Challenge of Resource Management - Food
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❑ What is a megacity? [1 mark]

❑ Outline one way that international migration has led to change in the character of a named UK 
city. [2 marks]

❑ Suggest why an increasing number of megacities are located in lower income countries (LICs) or 
newly emerging economies (NEEs). [2 marks]

❑ With reference to a case study of a city in an LIC or NEE, outline its national and international 
importance. [4 marks]

❑ To what extent has urban change created opportunities in a UK city you have studied? [9 marks] + 
3 SPaG marks

❑ Evaluate the effectiveness of an urban planning strategy in helping to improve the quality of life 
for the urban poor. Use an example of a city in a lower income country (LIC) or newly emerging 
economy (NEE). [9 marks] + 3 SPaG marks
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❑ Suggest one way microfinance loans can help to reduce the development gap. [1 mark]

❑ Outline one way the political or trading relationship of a named LIC/NEE country with the wider 
world has changed. [2 marks]

❑ Suggest two ways that the level of economic development of a country might affect the quality of 
life of its people. [4 marks]

❑ Explain how modern industrial developments can be made more environmentally sustainable. [4 
marks]

❑ Using a case study of a LIC/NEE country, explain how manufacturing industry can encourage 
economic development. [6 marks]

❑ Suggest how one or more strategies might reduce regional differences in the UK. [9 marks]

❑ Distinguish between water deficit and water surplus. [1 mark]

❑ Outline one opportunity created by the changing demand for food in the UK. [2 marks]

❑ Explain how food, water and energy contribute to economic and social wellbeing. [4 marks]

❑ Explain how local food sourcing reduces carbon emissions. [4 marks]

❑ Explain how water quality and pollution is managed in the UK. [6 marks]

❑ What is means by a sustainable food supply? [2 marks]

❑ Describe the social and economic impacts of food insecurity. [4 marks]

❑ Using a named example, evaluate the success of a large-scale agricultural development [6 marks]

❑ Explain how food insecurity can lead to famine and undernutrition [6 marks]

❑ use an example of a local scheme in an LIC/NEE to explain how sustainable supplies of food can be 
increased [6 marks]
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Section A: Issues Evaluation 

Section B: Fieldwork

Aims/ 

Location:

Explain the advantage(s) of the location(s) used for your fieldwork enquiry. (2 marks) 

Explain one factor you considered when selecting a suitable question/hypothesis for your human 
geography enquiry. (2 marks)

Geographical 

theory/ 

concept:

Explain why it was a suitable topic for a geographical enquiry. (2 marks)

Assess how helpful a geographical theory or concept(s) were in developing your enquiry. (9 marks + 
3 SPaG)

Risk 

Assessment:

Suggest one reason why risk assessment was important when planning your enquiry. (2 marks)

Explain how you managed one of the risks in your fieldwork location. (2 marks)

Describe one risk with your physical fieldwork and explain how you minimised this. (2 marks)

Method/ data 

collection:

Assess the effectiveness of your data collection method(s). (6 marks)

Justify the use of maps or photographs or field sketches in your geographical enquiry. (3 marks)

Justify one primary data collection method used in relation to the aim(s) in your geography 

enquiry. (3 marks)

To what extent were the data collected useful in satisfying the original aim(s) of the enquiry? (6 

marks)

Data 

Presentation:

For one of your geographical enquiry, explain two ways that you collected quantitative fieldwork 

data. (4 marks)

Analysis: 

Describe and justify one statistical technique you used to analyse the data collected in your 
geographical enquiry. (3 marks)

Explain one method you used to analyse your primary fieldwork data. (2 marks)

Conclusion:

Explain to what extent your secondary data helped to support your conclusions. (6 marks)

For one of your fieldwork enquiries, to what extent did the result(s) and the conclusion(s) meet the 
original aim(s)?  (9 marks + 3 SPaG)

For one of your geography enquiries, to what extent were results of this enquiry helpful in reaching 
a reliable conclusion(s)? (9 marks + 3 SPaG)

Evaluation:

With reference to your methods, results and conclusions, suggest how one of your geographical 
enquiries could be improved. (9 marks + 3 SPaG)

Evaluate the reliability of one of your fieldwork conclusions. (9 marks + SPaG)

With reference to one of your enquiries, suggest how you could have improved the analysis of your 
data. (9 marks + 3 SPaG)

Links:
To what extent did your fieldwork enquiry show the links between physical and human Geography? 
(9 marks + 3 SPaG)





Give a disadvantage of agribusiness. (1 mark)

Possible answers include:

Due to increased mechanisation, employment in 

agriculture may decline.

The increased use of pesticides and fertilisers can have 

a detrimental impact on the environment, such as causing 

eutrophication in nearby rivers and streams.

Removing hedgerows also reduces natural habitats for 

wildlife which can provide natural predators to control 

pests, e.g. ladybirds eat blackfly.

Outline one strategy which aims to reduce the rate 

of climate change (mitigation) [4 marks]

HINTS: The command word is outline; this means that you have to 
give the key features of something.  The question asks for one 
strategy so more than this will not gain extra credit. There are 
several strategies you can choose from including; an increase in 
electric car ownership, alternative fuel source, afforestation etc. 
Because there are 4 marks available for one strategy your points 
will have to be well developed. See the level annotations below 
to see how the model answer develops points. 

EXAMPLE RESPONSE: One strategy to mitigate 

climate change is afforestation.  This is where trees 

are planted which then absorb CO2 as they grow.  

This therefore reduces the amount of carbon dioxide 

in the atmosphere.  A lower amount of CO2 in the 

atmosphere will reduce the greenhouse effect 

leading to a reduction in global warming.

Suggest two reasons why the rate of deforestation 
varies between different countries [2 marks]

HINTS: The question asks for two. Be careful that your two 

reasons are different and not just opposite to each other, 

no credit will be given to opposite statements. 

Answers can include; Different levels of 

development, Population density/building 

settlements, Mining/mineral resource exploitation, 

Political stability, Development of hydro-electricity 

systems, Conservation measures.

With the help of figure 17, explain how glaciated 

landscapes provide opportunities for economic 

activities. [6 marks]

Assess the importance of interdependence between 

abiotic and biotic components of the hot desert 

ecosystem. (9 marks)

✓P

✓P ✓Ex

✓Ex

✓P

✓P

✓Ex
Level 2: 

4/4

The biotic and abiotic components of a 

hot desert ecosystem are the living parts (biotic), 

such as the animals and plants, and the non-living 

parts (abiotic), such as the soil, rock and water 

supply. The interdependence of these parts is vital 

for the survival of the ecosystem.

The importance of interdependence is 

shown by the existence of links between the various 

parts of the food web, such as animals eating plants 

that have gained nutrients from the soil. 

Interdependence is also shown by the 

adaptation of plants and animals to the soil and 

climatic conditions. For example, the cacti store 

water in their tissues, and the Saguaro cactus in 

particular has small waxy leaves, which reduce 

water loss through transpiration. 

Additionally, people, plants and animals 

who co-exist successfully in these fragile ecosystems 

shows the importance of interdependence. 

Overgrazing, which reduces vegetation cover and 

leads to soil erosion, shows the potential damage 

that can be caused by the removal or damage of 

one component in an ecosystem.

The interdependence of the 

components is what causes the existence of the hot 

desert ecosystem and the importance of this 

interdependence can be seem when it is destroyed 

and the fragile ecosystem is damaged 

permanently.

[P] Glaciated landscapes attract large numbers of 

tourists.  [Ev] They come to walk, cycle or take part 

in water sports on the lakes. [Ex] These landscapes 

attract tourists through the dramatic hills and long 

lakes that are found in figure 17. [L] Tourists will 

bring money with them that will be spent in cafes 

and restaurants as well as bike or boat hire. They 

typically stay for more than one night and so B&B’s 

or hotels can be set up to earn money.

[P] Land is also used for quarrying [Ev] as these 

landscapes can be rich sources of stone such as 

limestone. [Ex] During glaciation large outcrops of 

rock were exposed and so they can be easily 

accessed. [L] This can be dug out of the ground and 

sold by quarrying companies and will be a source of 

income for local people. 

NOTE: The command word is explain, this means that you will 
have to give reasons to support your points. ‘With the help 
of…’means that you have to use something from the figure. 
Develop this point with your own knowledge or include another 
point from your own studies. Economic activities are ones that 
make money. This question is about linking the attraction of 
glaciated landscapes to a way of making money. Use PEEL to 
structure your work.
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How to Revise Geography 
An excellent way to revise for Geography is by using Seneca Learning and completing the tasks set by your teacher. This 

can be found at: www.Senecalearning.com and by using your class code: ___________________ (stuck in your planner).

Decision Making
Use your case study knowledge 
to weigh up the positives and 
negatives of a case study and 

decide on your opinion. 

An example activity you can 
do it create a comic book 

strip to show the formation 
of a waterfall.

http://www.senecalearning.com/

